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It is usual for an ox to become untied - PN oAy MY

OVERVIEW

The X3 explains the difference between 21 MW (where the owner is 217 if he
gave them to a Y'wn [even if it was 701921 MWP]) and N2 (where the owner is MWD
if he gave it to a 1"'wn). The difference is that it is common for a tied M to become
untied and for a covered pit to become uncovered. However a n>mx tends to
extinguish with the passage of time. "7 and M»dOIN disagree as to the meaning of
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»''"w9 explained that even without the intervention of the w9 it is common that
the ox will become untied by itself and similarly by a 912 it is common that the
cover will collapse on its own. (However a nonx will become extinguished on its own.)

mooIn disagrees with >"wA:
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And this interpretation is difficult; for you are forced to maintain that we are

discussing a case where it was tied and covered properly as I explained -
- “9)09 N9 17D 199 (3,23 97 NP

And later the mwn teaches that if he covered the pit properly he is exempt from
paying for any damages.

mooIn offers his interpretation:
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And the apparent interpretation is that the X7 maintains that it is common
for an ox to be untied by the w-n. It is an inferior 77°»¥ since he delivered the
ox to the wan. We are discussing a "X13 M0’ 77°wp, where if it were left alone it will not

become untied or uncovered; however since he gave it to a (1"w)n, the won will untie the ox and

cause the pit to become uncovered. That is why the owner is 2.
= N9N) MAYY 1997 1PNT 79 DD ¥4 XY NNy YaN

1 "
MY AT
% It seems that *"w" maintains that 7019 WP means M0 ROW. However if it was 1813 70107 WP, then even if he

gave it to a 1"wn he would be 71w5. See ‘Thinking it over’ # 1.

? See previous M3 7"7 Moo, [It should seemingly read “nw7o72"]

* Since mooIN proved previously that it was »X73 770192 P and there is a 7awn that rules 7105 *1X12 1703, how can
we assume that by (™&12) 17012 WP, that he is 2°177?!
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However concerning a (glowing) coal the 7722 does not become that inferior if

he gives it to a 1'wn, for it is not as common for the Y"wn to ignite the coal -
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As it is common for the 1" to untie the ox and uncover the pit; for the longer
the w1 leaves the coal alone it continually proceeds to become extinguished.

SUMMARY

»"w9 maintains that >pIn1% 1977 W on its own accord; however N9 maintains
that (since it is X7 MWp) it is *PI1N17 1277 on account of the 1'wn, as opposed to a
n>mx which tends to become extinguished.

THINKING IT OVER
1. Is there a practical difference X1™7> between >"w1 and npo1n?° What is the root
cause of their difference?’

2. What are the advantages of >"w15?

3. The X3 seemingly should have differentiated between a 1121 W and a N> in
this manner; by 21 MW it will be 7MiM PN through the 1'wn; however by a noma,
the 1"wn will not ignite it.* Why does the X7n3 state that by noma it is X211 X7nwn,
meaning that left to its own it will not damage; by a 7w 712 it will also not damage
if left on its own?!’

° By a 1121 MW the presumption is that as time passes the greater the odds are, that the Y"wn will untie or uncover it.
The knot or the cover does not become ‘stronger’ with the passage of time. By a nom3, however, the longer it remains
by the 1"wn, it is more likely to have become extinguished, and unable to cause damage. See ‘Thinking it over’ # 3.

% See footnote # 2.

7 See XN 71"72 1w MR 1" AL
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? See footnote # 5, and 17"nK.
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